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410 JEER ; BREAH

V o KREZER, v, ..., v, 0 V DR,
VweVidv=cvi+ - +ec,v, DRI —EHIZHobIN5.

(GEMH) vi,..., vy FVOEELD, V =Span{vy,...,v,} D V.
—REME, v, vy DY KD,
V=c1vi+ -+ epvy =dvi+ o+ vy
=(a—-—d)vi+-+(en—Cd)vpn=0=>c1=d,...,cn =0, O

T3 (KEREN 2 NV, FEREAT )

FEM24 D cy,.. . cp % HES ={v1,...,vp} IZBIT 5 v DRERE ;
(v)g :==(c1,...,cn) & BEE S IZBT 5 v DIEEENT bV ;

C1

[v]g := : Z BE S ICBY 5 v DEEEETH] & WD,
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vi = (1,2,1),va = (2,9,0), v = (3,3,4) € R? IZR3 DHE.
= —1+£0)

1
(v)s =(1,-1,2), [v]s = ( -1 ) (. v=v1— v+ 2v3)
2

—1,9) D S = {v1, vy, va} (TR B RERENR T R )L, FEEEATHII

EHL 25

Vo WEZEM, dimV =n, S ={vy,...,va} : V OERELEE,
(w)g = (u1,...,up), (W)s=(uj,...,ul).

(a) [Jul| = U%+-~-+u;€;

() d(u,w) = v/l — P T T (P

(c) (u,u) = wguf + -+ + upul,.
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L 28 AR ]

Vo KR ZERE, BB"V@%E, vev.
JEFEAT S [v]p & [v]p DBEFRIX?

o dimV =20D5&E%2F5 2 5.
B = {u,m}, B = {1} ¥ U, [m]p = < : ) o] = ( ¢ )

u =au)

5%, Oy g s e e VISHLT, [W]B:<’“l>.

u = cuj + duj
DFD, v=kw+ku £TBE, v=
kl(alu'1+bm'2)+k2(cu’l+d1u'2) (kla—i—k:gc) (klb+k2d)ul2 £,

] = kia+koc\ [ a c ki _[(a c [v]
B\ kib+ked ) — \ b d ke ) b d B
" [W]B/ :P[W}B. fHU, P = < Z 2 > = ([ull]B/ [1112]3/).

» dimV =n OHES, FERIZARD KD LD ¢
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RE P (BRI R D i)
MIEZEMV ORK B = {uy,...,u,} 6 B = {u],...,u,} T£#HT 3
L&, veVIINLT, [vlp =Plv]s.

L, P= ([MI}B, [mn]B,). (P % B75 B ~DOEHITH £\ )

1

V=R? £EEB={u =

{ﬂll:—“tfr“j/? &0, [wlp = ( _11 ) [ua]pr = < 31 >

~1 2 7
= (2 )= () EeE ble=Phlas

v
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HIE Bh S B ~OEHITHIE P LT 5.
(1) P&l (FER);
(2) P~ ix B' 75 B ~DZE#HSTH.

(FEMA) [v]p = Plv]g, [Vl = Qlv]p = [v]p = QP[v]p. v € V I#MEx
£V, [v]lp=ce; (B¥ERLRT ML) T, QP=1TQ =P ! O
> [v]p = Plv]p = [v]p = P~ [v]p

3 (A7)
A= A BB IESATH A R B 0 5.

a
3

| A

M 27

Vi WRZER, dimV < oo. B, B : V OIEBEREIE.
[v]p = P[v]p = P IZERFTH, ie. P~ =P,

(GEW) W5, (Bkid g, SEEALY, HREZDLTHRD)
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(v)=r(3)

~

cosf sinf
—sinf cos6

|

cosf sin 0 0
—sinf cos 9 0
0

8 immﬂ«‘
OB
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A nxnfTgl. RIEFEE

a) A ilﬁiﬁﬁﬂ (ie. A~L = AY);

b) A DITRZ MLV ERKIZ R™ D EMEREE ;
c) ADFIRT FVEEKIZ R DIEREREE ;
d) || Ax| = |x|| (vx € R™);

(
E
(e) <AX7Ay> = <X7y> (Vx,y € Rn)

(RERR) W&, (BlkDSdNIE, £EZR7ZD, #FANZH L THD)
(

(

!

(

(

(x,y) =xey=x'y: =2V v FNNREIZEE)

a) e () A= (a1 a,) (ADjH%Ea;) £T2L, (AYAD (i,j5)
S ZZ:1 QLA = <ai, aj> T, ag %ﬁ‘E%ﬁET&%E& = (At)A =

a) < (b) FRRIZ, FIZ2VT A(AY) 2Z 20X X\, (a) & (e)
x,y)=x'y £V, (Ax,y) = (x, Aly) 22645, (d) FHEZTAHS.
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